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? CODED RELATIONSHIP

Directions (1 - 10): Reagq ¢t
information carefully and answe
given below:

he following
r the questiona

(i) P + Q means Pis the father of Q.
(ii) P - Q means P is the mother of Q.
(iii) P x Q means Pis the brother of Q.
{(iv) P+ Q means P is the sister ol Q.

(v) P& Q means P is the son of Q. "
(vi) P # Q means P is the daughter of Q.
1. How is A related to F in the given
expression?
A+BxC+DRBE#F
(1) Son (2) Son-in-law
(3) Brother (4) Father-in-law
(5) None of these 8.
2. How is A related to F in the given
expression?
ASB+C#D+ERQF
(1) Patermal Grandson @
(2) Maternal grandson 9

(3) Paternal granddaughter
(4) Maternal granddaughter
(5) None of these

3. How is A related to F‘Q!hc given
expression?

A#B+CRBD-E+FE
{1) Brother (2)
(3) Sister AR
(5) None of pke

4. How is la¥éd to F in the given
expressj P%’

‘

Q

S. How is A related to F in the given
expression?

A+B+CxD+E#F

(1) Brother  (2) Father
(3) Cousin {4). Husband
(5) None of these

S A ——

How Is 1 reluted (o A ln the given

exXpressiony
AND-CAD g+

(1) Brother (2) Simer &g«

(3) Couain tH l!mth«%

(S5) None of these

How is F related &&\ the given
cxpression? Q

AGCDxCaDfiEd *
(1) Father

(2) Paternlgrandinther
(3) Matermn wiinther
{4y U

ISPpion these

oy F related to A in the given
;'V-sttm?

Q BxC+DxKE-F

) Brother (2) Sister
{3) Cousin (4) Aunt
{3} None of these
How is F rclated to A in the given
expression?
A+B-CxD+ExF
(1) Paternal grandson
(2) Paternal granddaughter
(3) Maternal grandson
(4} Matemal granddaughter
{5) Maternal grandson or granddaughter

How is F related to A in the given
expression?

A#BxC+DxEW#HF
(1) Aunt (2) Mother

D+E+F (3) Grandmother(4) Sister
(2) Sister (S) None of these
(4) Uncle Directions (11 - 20): Read the following

information carefully and answer the
questions given below:

(i) A + B means B is the father of A.

(i) A - B means B is the mother of A.
(iii} A x B means B is the brother of A.
(iv) A + B means B is the sister of A.

(v) A ¥ B means B is the son of A,

(vi) A # B means B is the daughter of A.
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11. How is P related to U in the given 18.

expression?
U-THS+RRQHP

(1) Daughter (2} Sister (3) Niece
(5) None of these

(4) Aunt

12. How is P related to U in the given
expression?
UxT+SER+QU¥P
(1) Brother (2) Son  (3) Cousin 9.
(4) Nephew (5} None of these

13. How is P related to U in the given
expression?
U+TxS+RxQ+P
{1) Father

(2) Paternal grandfather

(3) Maternal grandfather

(4) Great grandfather

{5) None of these

How is P related to U in the given

expression?

-14.

U+TUSxR-QxP
(1) Father

(2) Paternal uncle

(3) Materna!l uncle
{4} Grandfather

(5) None of these

How is P related to U i ? given
expression? AL
U-T#S+R+Q=+P

(1) Sister (2) ,

(3) Grandmother (4){
(5) None of these §R, *

How is U rejfited
expression?, %,

15.

16.

&mnal grandfather
(4} ternal grandmother
(S} Data inadequate

How is U related to P in the given
expression?

U#TxS-RxQ+P

(1) Husband  {2) Wife

{3) Sister {4} Mother-in-law
(5) None of these

17.
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20.

21.

22.

23.

‘Howlis U related 1o F 1n the givey
expression?
U#T-S#R+QHNP

(1) Maternal grandfather
{2) Maternal grandmother
(3) Paternal grandfather
(4) Paternal grandmother
(5) Data Inadequate

In which of the given ex ‘?é:‘ﬁ%l’ is the
brother of U? ﬁ@

(l)UxT+s-R+Q@;,'
(2)U><']‘xs-(: *2
(B U+T-S+RyQHAP
{4)1},”-&.‘\%@*"

(5) U +T, Q%P
rnothtg.r-l law of U?

In whit iven expression P is the
x S+R-Q-P
t“l’) 4T+SxR-Q+P

(5)U#T-S+R¢Q+P'

Directions {21 - 25): Read the following
information carefully and answer the
questions which follow:

(i) A x B means A is father of B.

(ii) A + B means A is'daughter of B.
(iii} A + B means A is mother of B.

(iv} A - B means A is brother Qf B.
HP+Q-R+T, how:sTreslqted to P?

(1) Aunt {2) Brother (3) Father
{4) Grandmother (5) Cousin

Which of the following means that R is wife
of P?

(1)PXR-Q-T(2}P+T+R-Q
(3)P+R-Q+7T (APxT-Q+R
(5) None of these

If P x T+ Q +R how is R related to P?
(1} Daughter

(2} Husband

(3) Son-in-law

(4) Son-in-law or Daughter—m-law

(S) None of these
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24. HP+R-QxT, howis
{1) Grandmother Fresed oy -
(2) Mother-in-law
(3) Sister
(4} Grandfather
(5} None of these :
25. If P+Q+ R xT howis Trelateq to Q7
(1) Aunt (2) Sister
(3) Brother {4) Grandson
(5) Brother or Sister

pirections (26 - 30): Read the
information carefully and ap
questions, which follow:

(i) A - B means A is father of B. 34.
(ii) A + B means A is daughter of B,

(iii) A + B means A is son of B,

(ivi A x B means A is wife of B.

32,

33.

following
swer the

26. How is P related to T in the expression 35.
‘P+S-T?
(1) Sister (2) Wife ({3} Son

(4) Daughter (5) None of these

In the expression ‘P x Q - T’ how,i
related to P?

(1) Daughter (2} Son (3) Mo E
(4) Can’t be determined
(5) None of these _
Which of the following meg)

27.

28.

o 36.
(HPxS+T (2P &gt GIP-S=T
@P+T+  of these

29. Which of the fol eans P is maternal
grandson of S
(1)P+Q- P+QxS (3)P+Q+S
(4} P > Q 5) None of these

30. In the ssion P + Q x T’ how is T 37.
T H

(2) Father (3) Son

(5) None of these

Read the following
d answer the

other

(4)
Directions (31 - 35):
information carefully an
questions, which follow:

(i) A - B means A is daughter of B.
(i) A + B means A is wife of B.
(iii) A + B means A is father of B.
(iv) A x B means A is son of B.
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38.
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In the ¢ : R
to §7 Xpression ‘P = R

1
(3) Father {2) Grandfather
(3} Maternal Grandson

- 8'how isa P reluted

{\:L-Sistc: (5} None of these

ic .

law of 3? the following means S is son-in-
(JP+RxS AP+RxS, bR+ 5

In the expression ‘P - g, +58 i
related 1o P> @ e s

(1) Mother 2 F??\ >

{3) Brother 48 sng

(5) None of theug

How is P relgte S in the expression:

} Wife

{3) Son

(2} Daughter
Daughter-in-law
(3) Can’'t be determined

¥ections {36 - 40): Study the following
nformation carefully and answer the
questions given below: -

(i} P x Q means P is brother of Q.

(ii) P - Q means P is mother of Q.

(iii) P + Q means P is sister of Q.

{iv) P+ Q means P is father of Q.

How is W related to M in the expression
W+ T+RxM?

{1) Maternal aunt

(2) Paternal aunt

(3} Grandmother .

(4) Data inadequate

(5) None of these

How is K retated to D in the expression
D-J+M+K?

(1) Grandson  {2) Nephew
(4) Data inadequate

{5) None of these )
How is R related to M in the expression
M+J+TxR?

(1) Nephew (2) Niece

(3) Nephew of Niece

(4) Data inadequate

(5) None of these

(3) Niece
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Which of the following expression

Q
- represents T is nephew of J? )
(YIXM-FxT (I xM-F+T
(HIxMF=T (HJIxM+F+T
15} None of these .
40. Which of the following cxpression
(NBxM+H (2QAB+M+H
(4)B+M-H

(33 xM+H
(S) None of these
Directions {41 - 45): Thesc questions are based
on the following information:
P © Q means Q is the brother of P.
P # Q means P is the daughter of Q.
P = Q means Q is the sister of P.
P £ Q means Pis the son of Q.
P+ Q means Pis the father of Q.
P{@ Q means Pis the mother of Q.
Which of the following is a correct
conclusion dmwn from the expression
QLN@SOM=~P?
(1) S is the brother of P.
(2) N has two sons and two daughters.
(3} S is the sister of Q.
{(4) Pis the sister of Q,
{S) None of these
What does the expression

‘P@R=SOTLV mean?

(1) V is the husband of P, ‘?&

(2) Ris the son of V.
{3) R is the daughter 0!‘,@;'
(4) V is the wife of P

{S) None of these

Which of the folldw
the paternal

(1)CEVs D
@ceyv, @NOD
(3) D @voc
VaLoc
‘s on¥ of these
e L(I::h t:::rl::ll_la??nng Indicates that Qis
(UQ*P#C@N@V
RQIN+Pscgqgv
(SlM@N#R+Q
(4IM0Q-VIN
(S) None of these

Which of

the follow; i
conh ng i1s the
lusion drawn from, the exprc:soi?: t

46,

41.

42.

43. indicates that C is

D

45.
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{ - 50): These questions
represents B is the patermnal uncle of H?  pirections (46 - 50)
‘ on the following information:

48.

S0.

i . .

‘LeMENOP+Q?
{1) Q is the grandson of M.

(2} L is the uncle of N.

(3) N is the uncle of Q.

(4) Q is the nicce of N.

{S) None of these

baged

P= Q means Q is the fathct%fg

P + Q mcans P is the sist 3 Q@

P # Q means Q is the méthéwof P,

P $ Q means Pis the rof Q.

PLQOmeans QiS5 t e'%aglfofP.

P x Q means PIs the l[.;l::mgh'w:r of Q.

Which of the folf E is not correct?

(HLEM+ e‘- eans O is the sisterof {,

(2} M !’;‘s Q means Q and O g
husbangd. ags wife,

G R means R is the grandmother

51 All are correct
%’Whieh of the following is correct?

(1) LEM $ Rmeans R is the patemal uncie
of L.

(2)ME R+ D # Vmeans M is the son of V.

(3) D #V x T means D is the granddaughter
of T.

(4) er T+ Pmeans Pis the maternal uncle
of V.

(S} None is correct

Which of the following indicates ‘A is the
grandfather of B

(W)MxA=N=B
B)L+B=S$§Q=a
(5) None of thege
Which o i ‘F i
paternal Ltr&?efgz'l?}‘;mg means s
(lJL=F30gG
BINSF$1xG
{S) None of these -
‘SxM+ = ’ i
followmgB rﬁlztioi:?o reveals which of
(1) M-is the maternal aunt of L.
:g; ]l;:.s the granddaughter of Q.
o ;s :lhe Paternal uncle of S.
51 nd B are brother and sister.

)_ one of the above relations gets revealed

(2)BSLxQxA
(4)BxLxA

(2)GxM+F$L
(4)GxL$FSN
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Answers with explanations:

1-10: .

i to 10 are qu.cstlons related with Fo

coding. In this typti': of coding, 3ymbr;1'$ pe
on the element which is at forward poailizmcu
Here, P + Q means P is the father of O n.
The symbol "+ focusses on P, th 3§
forward position. ¢ element at
In this type of questions, you are advj

read the expression from left to right v;::gc tz
{amily tree carefully and answer the
questions. he related
1. 2; F

FH

'|°‘(+1 =
B.—Cu—Dy
Obviously, A is the son-in-law of F,
2. % D= Fy

Bi—Cy "

|
Ay

Obviously, A is the maternal grandson of F, 3

A
A(->: i F

i+
Obviously, A is the sister of §¢

YA, Cy BT

Hére, the gender
Therefore, F is either brother or st

l-l: /Fl*l
?{71'" @ B
Ay
: al
Obviously, F is the patern
of A.

f F is not known.
° ister of A.

grandfathcr
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8 3 —
?"l Ca—Di—E,,
o Ay F
brvi ) :
o s wiously, P is the cousin of A.
"
2
| “’%
C"i_DH_E‘IT-F %
Here, the gender of F;&b'. knowm.
Therefore, F is ¢jth 2¥Ernal grandson
or maternsal d ter of A.
10.1; B,.,—' =¥
D.5—Ey,
Obvicgualy,'# issthe aunt of A,
11 - 20’3&.
11 %‘32 an’e?queslions related with Backward
Typeigodiag. In this type of coding, symbol
fo e%on the element which is at backward

y -

ety A+ Bmeans B jg the father of A. The sym-
o¥'+ focusses on B, the element a1 backward
position.

In this type of questions, you are advised to
read the expression from right to left. Make a
family tree carefully and answer the related

questions.
11.3; -
W

Qu  Su

I

l:'l-l

Obviously, P is the niece of U.
12.4; s, \

Qi Ry TV

Py

Obviously, P is the nephew of U.

.25

13 ] Pl...}

R ST

+} |
U

Obviously, Pis the paternal grandfather

of U.
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14.3;

15.4;

16.5;

17.2;

18.4;

19.5;
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Piy—Qu= Tt,\

‘LoT_ S¢ U
Obviously, P is the maternal uncle of U.
Pt-i_'T{‘r""i’l-)

R3S
Obviously, P is the patermnal aunt of U.

|
RS, T

Pa—Qy,

Here, the gender of U is not known.
Hence, we need some more information
to decide whether U is maternal
grandfather or maternal grandmother of

P.

po———
r[‘l T{-I
T,

Qa Ry Sa Ty
Obviously, U is the wife of P.

S \ Y

?n Rn T(l

Pa

Obviously, U is éranal
grandfather of P. e

We have to see that P jd the Brother of U.
Therefore, P must he Seghale. Also, the
gender gap betwee Pnd U must be zero.
Look at the q t¥sion (1). In this

expression P f@xcD¥fesented as a female.

periped as a female . Note that Q +
¥S P is the smter of Q. Therefore,

look at the generaﬁon gap between

P and U in the expressions (2) and (3).
0 0 +1 +1 0

(2 UxTxS-R+Q=xP

(0+0+1+1+0=2)

0O +1 +1 +1 o
B U+T-S+R+Qxp
(0+1+1+1+0=3)

r ¥ b A e
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The gencration gaps between Pang yy;
these expressions are not Zer:] [

Therefore, reject the expressions (2) ang
(3)-

Now, by elimination, the expressigy S
is our answer. Now, lock at the fam
tree for expression (3).

Q‘-;
Obnoush' Pis the b

20.1; IfPisthe mother-in thcn Pmug
be representegas emtheanw...
expression. Also, P 3"position must b
one generan abgfe than U.

Reject the ressions (2) and (5}, be
cause in two expressions Pis rep-
resent ale.

P@“,@ the generation gaps
berhee and U in the expressions (3)

T&r
fn\;z'/—l 0 0O +1 +1

PsQxR<S-T-U
(-1+0+Q+1+1=1)
-1 0O 0 +1 +1
4 P#Q+R=8S-T=+U
(-1+0+0<+][+1=1)
In these two expressions P's positon is
one generation below than U. Therefare,
reject the expressions {3) and (3}
Now, by eclimination, the expression (1)
is our answer.
Now, look at the family tree for
expression (1).
Py

Qy = yl..

Ru Fr L)
Obviocusly, P is the mother-in-law of U.
21 - 28:
21.5; ?ﬁ"ll?“
Py T
Obviously, T is the cousin of P.
Reject the expressions (1), {2) and (3) b':;

cause in all the three expressions
represented a rmale.

Now, make a family tree for the expres’
sion {4)

22.4;

58
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P[J-Rl I P i

) und Sis -1, Hote that if P is the grandson

T O of 3 then the position of P must be two
venerations Jower than S, It means the

43 p vrncrution pap betvresn Pand 8 must be

23,3 ) -2. How, check the expression (3)

Tf-i" A 7

% % y;{gg

Obviously, R ig the son-in-law of P, b -
)

Obviounly, R is the wife of P,

24. 1; P, -
(-
| Obviously, P is the mz;t@id grandson of
R|'.'|'_Q.|q 8.
0 ;
. 30. 2; ?H
Obviously, P is the paternal grandmother P,
of T. Ohbviouslyf
25.5; FI’(,); T{ﬂ 31-35: o £
/ 31.3; 4?} -
Qy T N
Here, the gender of T is not known. T is 2f Py, TH
cither brother or gister of (). ' o p
26 - 30: )
,26' 1; Sl,J Obvicusly, P is the maternal grandson of
I\ S.
Py T
il ; (1) (2} 5= 35,
Obviously, P is the sister of T. ls EP “
27.4; P=Qp P> R, 5
| (Rejected) (Rejected)
T
We have no information rég ) PR, 4) P
gender of T. Hence, £ idtgi -
daughter of P. R Sy
(Rejected) {Selected)
28. 3; A= T ‘ . , i
it In expression (4), S is the son-in-law of P.
: If you check genecration gap between P
(Rejected) and S in each equation, you can easily
reject the expressions (1), {2) and {3}
33.2; Q™™ Sy
Pry
p Obviously, S is the father of P.
? 34.1; Qp
(Rejected) |
Py

29.3; Reject the expressions (1) and (4)
because in these expressions P is
represented as a female. Now, reject the
expression (2) because in this
expression the generation gap between

Obviously, P is the brother of S.
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Pa =R,

S

Here, the gender of 8 is not known. Sis
either son or daughter of P.

36 - 40:

36.2; W i—T,

L
Ra—M

Obviously, W is the paternal aunt of M.
TH
Ji— Tm

K

37.4;

Gender of K is not known. Here, K is ei-
ther grandson or granddaughter of D.

M5

38.3; 3

T—

3d} R

Obviously, R is either nephew or niece
of M.

Look at the given expressions ¢
In all the expressions the gend

not known. Hence, no express
fulfill our objective. Therefoﬁfaject all

39.5;
of T j

expressions. You can family
tree method.

; :
JH_T'H (2) Jm;@
F5—1
[Reject'cd)
—M

(1)

Fo— 1
(Rejected)

(3) J( ('] "

l:'l-l I

(Rejected)
e given expressions, T is either
hew or niece of J.
40.1 have to look for the expression in

whzc.h B is represenited as a male and

the position of B must be one genera-
tion above H.

Reject the expressions (2) and (4), be-
cause in these expressions B is repre-
sented as a female,

Reject the expression {(3) because the

r 7 Ay A “r‘. T Fadt Paat W A

T i, . .

generation gap between B and H jg 2er0

0 0
BxM+H

{0+0 ~0)
Now, checked expression (1)
By M

| g:,y/ ~

ender of S is not known, (1),
% yot necessarily true. (4) is

41. 4

i

=)

Since,
(2) and {

Vir)

L=

42.1; (_]

> c
& R =%~ T

Since, the gender of R is not known, (2)

5 and (3} are not necessarily true. Reject

{4) because 'V is a male.

43.3; Make family trees of the given expres-
sions:

(1) M-y

+)
Here, C is the nephew of D. {Rejected)(3}
Niy

I *~

“~

vV —¢

L) )

)
Pty
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Here, C is the paternal unect
Here: © s cle of D.

Vo)
AN
N

i
D¢y

-} L — C(-l

Here, C is the maternal uncle of D, (Re-
jected)

41.2; RejﬁCE (1) and (4) because in these ex-
pressions Q has been represented as a
male. Reject {3) because the gender of Q
is not known. Now, check option (2).
N, & C,
1.1
Py Q.
|
v
Here, Q is the daughter of N.
45.5;
N — FRg
| {
L—M,, Q g '
Reject (1) because Q is the cou f .
Reject {2) because L is the,p,c ild" d
Reject (3) because the gender Nis not
known. Reject {4) becaus nder of
Q is not known.
46.1; (1)

er or sister of L.
ssarily true.

Hence, O is e
Thus, [1) is

l'l
and O are husband and wife,
wely.
s, (2) is correct.

R -y
i
Q)

|
P

Hence, R is the grandmother of P.
Thus (3) is correct,

Tt N Nt et w ¥ W

47.2;

48.3;
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Re)

Hence, R is either maternal grand-

daughter or paternal grandau?htcr of T.
Thus, (4) is correct. L

i 4
: %g%’;
M, —K
Hence, R is either 4@é{aughter of L.
Thus, (1) is i
M.y —

(2}
Hen?e @ son of V.

us ‘{2; is correct.

Hence, D is either granddaughter or
grandson of T.
Thus, {3} is not necessarily true.

“4y 7.,—P

[
Vi

Hence, P is either maternal uncle or
maternal aunt of V.
Thus, (4} is not necessarily true.

(1)

Here, the gender of ‘A’ is not known. In
this equation ‘A’ is represented as either
grandson or granddaughter of B’

Hence, reject (1}
(2) A
I
?1-:
Biy— Loy

:
|
l




49, 4;

o L
Tt R Rl A . A T et N -

Here, the gender of A is not known. From
the above family tree it is obvious that A
is either maternal grandfather or mater-
nal grandmother of B.

Hence, reject (2).

(3)

Here, A is the paternal grandfather of B.
Thus (3) is our answer.

@

I

ll-{—)

B
Here, the gender of A is not known.
Hence, A is either maternal grandfather
or maternal grandmother of B.

Therefore, reject (4).

(1)
F(+j — Q

| l
L G

Since the gender of Q is not J
hence we can’t say with certaint

is the patemal uncle of G. Jf Q =
male then F is the maternalighcle o

Thus, reject (1).

L0

S50
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(2}

My — Ry —1L
|

Gy

Here, F is the maternal uncle of G,

Thus, reject (2).
{3}

G

|
N —Fg— Ly

Here, F is the p
Hence, rejec§(3).

(@) Qg

Ly

|

Gy

3 X % “-. .

Heérg, Fis the paternal uncle of G,

¥
‘"{%!ﬁ énce, (4) is our answer-.

@c, we have

>
IIVI(-) —Byye }I?(+)
St II~{+)
(1) True (2) False -
(4) False

(3) False



